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1. Sonu invested 10% more than the
investment of Mona and Mona invested
10% less than the investment of Raghu. If
the total investment of all the three
persons is X 5780, then find the investment
of Raghu.

e Jeeve BRESNI 10% éaiz)’ BPBS

BT DD Feede T ©I0
BPA3N03 10% 38D PAS DBRTD.
ST wed) BRBB X 5780 NPT, Tew

(Crale) m&écﬁ)ﬁ& B0 BAO.
[Bank PO 2010]

(a) 2010

(b) X 2000

(c)X 2100

(d) X 2210

(e) None of the above

2. Aarti, Vinita and Kamala became
partners in a business by investing money
in the ratio of 5 : 7 : 6. Next year, they
increased their investments by 26%, 20%
and 15%, respectively. In what ratio should
profit earned during 2nd year be
distributed?

8883, S DA BDwo 5 : 7 : 6 T

eﬂmmédc}, Smddg( BRA3 DI
VOIS dédmddeg RpldNarielerinaieil
Swod3 IdF, ID 3D, m&éoi)zdg(

DN 26%, 20% DD 15% do._'i‘)d
B TD. 2 e IRFFY NPT TP
o3 ODTIBTY JIB0JeIed? [SBI PO

Mains 2011]
(a)21:28:23
(b)23:28:21
(c) 58: 23: 21
(d)35:41:7

3. Avinash, Manoj and Arun started
business in partnership investing in the a
ratio of 3 : 2 : 5 respectively. At the end of
the year; they earned arprofit of X 45000
whichis 15% of their total investment. How
much did Manoj invest?

BT, DIeeF DD D

BTN 3 : 2 : 5 T oDTSTY
BPBBDY S BHOIRY,
D900DATD. IR FpJ0h), I X
45000 5923 AYITD, VD OTT W)
@830 15% 8N3. DIeeF o), BABS
SeBwaT?

[ SSC CGL 2016]
(a) 60000

(b) X 180000

(c) 30000

(d) 90000

(e) None of these

Rpldapiel]
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4. A, B and Cstarted a business by investing
X 20000, X 28000 and X 36000 respectively.
After 6 months, A and B withdrew an
amount of X 8000 each and C invested an
additional amount of X 8000. All of them
invested for equal period of time. If at the
end of the year, C got X 12550 as his share
of profit, then what was the total profit
earned?

[IBPS Clerk 2015]
?, A DA A 3N X 20000, X 28000

earned at the end of year is X 84125. What
is the share of B in profit?

[Bank Clerk 2011]

Q DR D ZheN X 35000 D3 X 20000

883 Rrod 59,@e3 8ToDIBD. 5 Sonty
8033, D BBHIVBY, FRVBD D) & X
15000 Fp3TR0d S TF0E, JeOTT.
SIS ZpIah) N9IT werd X 84125.

mz;ideg Q) Do oR)?

DB X 36000 BRBB TeB DT (a) X14133
9 (b) X 15000
880)ATRD. 6 3on¥ J0383 @ DA A B (c) < 13460

X 8000 SpBST LoBrRcHBR0BD D) &
X 8000 3230 BB BABS IeBTH.
Qg T TR BRBS IBTD.
SBB BIADY, d B3 UoIB ZOI X
12550 eﬂag( BBTT, S083 NRIT e, 923

(d) Cannot be determined
(e) None of the above

6. Amitabh, Brijesh and Kamlesh enter into
a partnership with shares in the ratio o%fj—/—z
: 4/3 : 6/5. After 4 months, Amitabh
increases his share by 50%. If the total

oR? profit at the end of the year is X 21600,
(a) X 25100 then what will be the share of Brijesh in the
(b) T 26600 profit? [SSC (10+2) 2013]
(c) X 24300 By, D)deF D) 8eJe* 7/2:4/3 :
Ed; 222360 6/5 O om380 dednweodn
e) X 21440 °

5. A and B started a business by investing X
35000 and X 20000, respectively. After 5
months, B left the business and Cjoined the
business with a sum of X 15000. The profit

D080y, BBedb3T. 4 Son
So33, wdTRF I, oI, 50%
B¢ ABROTBD. IR BRI DO e 93 X

21600 8NTT, 03T SeF Tow OR),?
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(a) X 8000
(b) 12000
(c) X 4000
(d) X 7000

7. A and B started a business with initial
investments in the respective ratio of 18 :
7. After 4 months from the start of the
business, A invest X 2000 more and B
invested X 7000 more. At the end of one
year, if the profit was distributed among
them in the ratio of 2 : 1 respectively, what
was the total initial investment with which
A and B started the business?

[IBPS Officer Grade 2015]

O D) 2 18 : 7 T @SB3 3808

BRAS3L0BM BBHICIRY FYTODITD.
3,3%90 @9,0048 4 or¥ F03T, o X
2000 Tl DI D X 7000 Bedy BB3
SBTD. 20w IRFT BPTDO, T,
gTToN 2 : 1 0 ODZITY ABOITT, A
DF B ISH0BR), D900DIB e
5308 BABS o)?

(a) X 50000
(b) 25000
(c) X 150000
(d) X 75000
(e) X 125000

8. A, B and C started a business together.
The respective ratio of investments of A
and B was 3 : 5 and the respective ratio of
investments of Band Cwas 10: 13. If at the
end of the year, C received X X 5876 as his
share of annual profit, what was the total
annual profit earned by all of them
together? [SBI Clerk 2015]

d D DA D we3rt d?sdmddd&

B9 00NATD. A DD B I BRBINY
T3F) 3 : 5 8RB DD B D) € ob
BPBB30D vD@TSY 10 : 13 sSNA). IR
BRFADY, C ToAFB 038 oo X 5876
o) SBOFT, @BTVTR JFed NPT we)
DoAEB ISR ?

(a) 13108

(b) X 12756

(c) X 13224

(d) X 12984
(e) X 12188

9. A and B started a business with an
investment of X 2800 and X 5400,
respectively. After 4 months, C joined with
X 4800. If the difference between C’s share
and A's share in the annual profit was X
400, what was the total annual profit?
[I1BPS PO 2016]
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D d)é_.g D @d)mﬁ X 2800 d)d)_. X 5400
BRBB03L0NN SBHTBRY, &9,BoDITI.
4 8on¥ Soad3, C X 4800 Ieodr
Te0BRoBD). DB 3T C BedD DR
A FedR SWIR S X 400 SNTT,
WEY TIAES 7033 OR)?

(a) X 13110
(b) T 12540
(c) X 17100
(d) % 11400
(e) X 14250

10. A started a business by investing X
25000. At the end of 4" month from the
started of the business, B-joined with X
15000 and at the end of 6" month from the
start of the business, C joined with X 20000.
If A's share in profit at the end of year was
X 7750, what was the total profit received?
(SBI PO (Pre) 2016)

@ X 25000 PR3 T8 =T

880ATD. @90 BTYDIT 43¢ Son¥
©0o33, ¥ X 15000 Horie 90T B8ToPIT
6:3¢ oriv ©oZ 3, & X 20000 FedEROTIL.
@ BedR Fe BT BIabO X 7750 €93,
3BT wED, 93 OR)?

(a) X 13950
(b) 13810

(c) X 13920
(d) X 12780
(e) X 14040

11. Aayush and Babloo are partners in a
business. Aayush contributes % of the
capital for 15 months and Babloo received
2/3 of the profit. How long Babloo's money
was used?

s DR
DoWeCTNGYT.  esalva® 15 Son¥
WOBDYTR 4 BRRTALRY, ALBDTIS SR
W UPT 2/3 esabd SBETD. WARI
BETI), o), BT Y¥IUNT?

(a) 10 months
(b) 9 months

(c) 11 months

(d) 7 months

(e) None of these

(AIAYD mémddeg

12. A began a business with X 2250 and was
joined afterwards by B with X 2700. If the
profits at the end of the year were divided
in the ratio of 2 : 1, after how much time B
joined the business?

A 2250 3podr astdmddaig( 9,80

DB) 303T X 2700 S0l B JedZpoB3.
SRFB BPJADY IS, 2 : 1 T
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DTBBY PNITT, B o), IDodd
S03BT SBHTB, JeOTH?

(a) 5 months
(b) 6 months
(c) 3 months
(d) 7 months
(e) None of these

13. Pihu and Rani start a business together
by investing X 9000 and X 6300
respectively. After a certain period. Pihu
withdrew from the business completely. If
at the end of 2 yr, the total profit earned
was X 13050 and Pihu's 'share was X 6750,
after how many months did Pihu withdraw
from business?
[SBI Clerk (Pre) 2016]
d®) D) Toed 3 zzoN X 9000 A X 6300

BRBE DT  DRVE  DYEWITIY,
D980TV, womd ADFF  3Dab
So33. @ IJogpermeN SBHTDOB
&0t JOTD. 2 SR BeIJaLY, NPT
WED, 0923 X 13050 d) & Fed X 6750
sAgs, oB oR) Son¥ o3
BBB0N0T 0T IOBD?

(a) 23 months
(b) 14 months
(c) 20 months
(d) 18 months

(e) 12 months

14. A started a business with initial
investment of X 1200. 'X' month after the
start of business, B joined A with an initial
investment of X 1500. If total profit was
share X 1950 at the end of year and B’s
share of profit was X 750. Find ‘X’.
[RRB PO (Pre) 2017]
X 1200 T 808 @el303eodrt A

BBBVSY, BTN,
59,0053 X' Bor¥ So33, B X 1500 T
©330%)38 BRBBWL0AT A 1t BedTD. 2E),
€203 X 1950 B@or 03,3 Fedh &) B ab
U3 o X 750 N, X' o
Bo&HBO.

(a) 5 months
(b) 6 months
(c) 7 months
(d) 8 months
(e) 9 months

mzsmd

15. X and Y entered into partnership with X
700 and X 600 respectively. After 3 months,
X withdrew 2/7 of his stock but after
another 3 months, he puts back 3/5 of what
he had withdrawn. The profit at the end of
the year is X 726. How much of this should
X receive? [CDS 2016 (11)]
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XDAB) Y 33N X 700 @) X 600 Beodr
D08 BIedIBD. 3 Son¥
So388, X BI BT 2/7 OJ
&oBriHER0BD S8BT }R,0W 3 donv
S03T, OB HoBriTHER0BFTA 3/5 O
&o3DNDBIN. IAFT VoSBT €703 X 726.
QBT X o), BTdadedes)?

(a) X336
(b) X366
(c)X 633
(d) X663

16. A, B and C entered into partnership.in a
business. A got 3/5 of the profit. Band C
distributed the remaining profit equally. If
C got X 400 less than A, then the total
profit was [SSC CPO 2013]

@, D DB Q FSHTBY o203

3,3e33BF). @ U933 3/5 SBALR. A DR
Q VT 3B, BTN BoWBD. €11 A
N0 X 400 3B VT, 37 e, €5923 ?

(a) X 1600
(b) X 1200
(c) X 1000
(d) X 800

17. X and Y make a partnership. X invests X
8000 for 8 months and Y remains in the
business for 4 months. Out of the total

profit, Y claims 2/7 of the profit. How much
money was contributed by Y?
X DB Y Soenwod3ahy Srethzas. X 8

Soniert X 8000 BB SRV DA Y 4
SonvY30r SBHTTO HVLWBNBT. 2:E)
To3BY, Y 033 2/7 &R 3,3 o33
Sy 0B008 oR), BB, NeBIINT?

(a) X5000

(b) X 5400

(c) X 7400
(d) X 6400

18. A, B and C start a small business. A
contributes one-fifth of the total capital
invested in the business. B contributes as
much as A and C together. Total profit at
the end of the year was X 5200. What was
C's profit share?  [SBI PO 2015]

Q B DB Jd Iy DDVIIY

@9, 80YWTT. SBHoTTO BRBS SBT3
WEY, WOTBTVT DTIe 00w mﬁda{g( A
3R ADSE. D o DB A AR
BRI, AeBDBB. AT BPI0DO
e, €7923 X 5200. C ab 03T Toe o) ?

(a) X 1510
(b) X 2510.
(c) X 1500
(d) X 2560
(e) X 1560 Pa
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19. A and B invest X 3000 and X 4000,
respectively in a business. A receives X 10
per month out of the profit as a
remuneration for running the business and
the rest of the profit is divided in
proportion to the investments. If in a year,
A totally receives X 390, what does B
receive? [SSC CPO 2008]

QDD D astdmddQ 3N X 3000

DD X 4000 T3 IrT.
BBV, SBIw  JogresIaiyeN
Ue¥Bd Sontert X 10 ¥ A SBdwSE
DD ved URISD, BeB3AD
DTBTY JonBITNG. wotd SREFTY,
A BogprmeN X 390 ,e30383, B oD
BIBAWBI?

(a) X630
(b) X360
(c) X480
(d) X380

20. Anil is an active and Vimal is a sleeping
partner in a business. Anil invests X 12000
and Vimal invests X 20000. Anil receives
10% profit for managing, the rest being
divided in proportion to their capitals. Out
of the total profit of X 9000, the money
received by Anil is

ILF & 0iy0dewToND), JTHeF &9 Ee3BY
Qedort HenwoBTNTYT. eF X 12000
DA e X 20000 BRAZ FeRET.
WA JAZFBBIMEN 10% OIS
3B w393, OBIHNYY, 933
OBV, ebreoTeN JonBTeeNd.
WED, X 9000 UPTY) A WA BEY ?

[Hotel Mgmt. 2010]
(a) X 4500
(b) X 4800
(c) 4600
(d) X3937.50

21. 398F X 52000 BRoDN DYHITII)
9, 80DATD D) 4 Son¥ J03T, F0 X
39000 Fp ol FeD3R0TD. e, UITO
33T BeI3abY, dzsamd AIEBEHBMN
3R 8N U9Id JeeFe womd en
JeDT0 2:e3), X 20000 T30 SBID. €30
o3 IBD, BBB?

Tom started a business with X 52000 and
after 4 months, Harry joined with X 39000.
At the end of the year out of the total
profits, Harry received total X 20000
including one-fourth of the profits as
commission for managing the business.
What profit did Tom receive?
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[NICL AO (Pre) 2017]

(a) 40000

(b) X 20000

(c) X 30000

(d) X 50000

(e) Other than those given as options

22. A and B started a business by investing
X 18000 and X 24000, respectively. At the
end of 4th month from the start of the
business, C joins with X 15000. At the end
of 8th month, B quits at which time C
invests X 3000 more. At the end of 10th
month, B rejoinssawith the...same
investment. If profit at-the end of the year
is 12005, what is B's share of profit?

o DA D Zd@eN X 18000 S X 24000
BRBZ T8  Dx@HT | B8T0ITI.
SBB0B  TYBoydod 4 Je  Son¥
Bp3abe), CX 15000 Feoldr Jedh3a. 8 Je
Son¥ BpJabY, B BR3¢ Ihabhid
C X 3000 ®d) BRPBS o3IW. 10 e
don¥ BpJabY, B wde @pB3deodr
D8 JeOBPYBT. SRFT IO 03T
X12005 &NZT, 93T B 0 Toen o) ?

(a) X 4000
(b) X 4440
(c) X 4360

(d) X 4900
(e) 3920
[LIC AAO 2014]

23. A and B started a business with X 20000
and X 35000, respectively. They agreed to
share the profit in the ratio of their capital.
C joins the partnership with the condition
that A, B and C will share profit equally and
pays X 220000 as premium for this, to be
shared between A and B. This is to be
divided between A and B in the ratio of
[SSC CGL 2013]
@ DR ) ZheN X 20000 HB) X 35000

B0 @0 BONITD. ©ID I,

WOBIVE  BVTIBBO OB
BouBAYL) wABR0TD. A, B D) C
ORITT,  IDRDN  BoBBRWS

BB8ZRodNR € HowwodBuhRY, Jeh3d
DB adz,N X 220000 Aecdobo esh
DB3BE, A DD B IDI
BowBRY,UHBE. /B A DE) B IS
TS JonBIe.

(a)10:1
(b) 1: 10
(c)9:10
(d)10:9
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24. A sum of X 15525 is divided among
Sunil, Anil and Jamil such that if 22, X35
and X 48 are diminished from their shares
SDO respectively, their remaining sums
shall be in the ratio 7 : 10 : 13. What would
have been the ratio of their sumsin X16, X
77 and X 37 respectively were added to
their original shares? [SSC CGL
(Mains) 2016]

X 15525 T ai/a§daig( DALF, 9 D)

Bee) IBDT JonBTNT 03T X 22, X
35 D) X 48 ¥IT @edhri¥ SDO Ao
3N  3BDabeEd, o33 ewed
SRZBNRW 7 : 10 : 13 ODTeSTOTe.
030 Swew A@edhnert DN X 16, X 77
D) X 37 3 BeBRY ODDBIY

Sed3eaNTade?
(a)9:13:17 (b) 18 :26:35
(c)36:52:67 (d) None of these
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